
 

ЛОГАРИТАМСКЕ НЕЈЕДНАЧИНЕ 

 

1.   Реши следећу неједначину:   

log1
3

2𝑥2 + 𝑥 − 13

𝑥2 − 2𝑥 − 3
≤ 0 

Решење: 𝑥 ∈ (−∞,−5] ∪ (−1,2] ∪ (3, +∞) 

 

2.   Реши следеће неједначине: 

a)   

log1 5⁄

𝑥2 + 3𝑥 − 4

𝑥2 + 𝑥 + 1
< 0 

б)   

log3

−𝑥2 + 2𝑥 − 3

𝑥2 − 4𝑥 + 3
> 1 

 

Решење:   а)   𝑥 ∈ (
5

2
, +∞),   б)   𝑥 ∈ (1,

3

2
) ∪ (2, 3). 

 

3.   Решити следећу неједначину:   

log1
3

(𝑥2 − 2𝑥) 

 

Решење:   𝑥 ∈ (−∞, 1 − √2) ∪ (1 + √2, +∞). 

 

4.   Решити следеће неједначине:    

а)   log1 2⁄

𝑥 − 3

𝑥 − 1
< 0 

б)   log2(𝑥2 − 5𝑥 + 6) > 0 

в)   log1 10⁄ (𝑥2 − 𝑥) > 1. 

 


